T AT A = {2z 249 5}, B = {z|zt 289] 2} o] tigte] n(AN B)
= Totofet

-
ol
=5

@ 2 @ 3 ® 4 @ 5



2.

ARG U = {z|z= 1001512] A4 o] F REHF

{4,5, 7}, B°={3, 4, 6, 8} & W, An B & FLstoiz}.

A, B ] disto] A



} & gavdgon venoler

mathematics’©|

v/
.

{alz



te] A ¢ B o] B c A oJth

©

A A, B o o

=
an

Fod=t.

40 g 75

o, B o] ¢

3WTh 33 1080 22 A4} o

1
1

{z |2



5.

A B = {z]z¥= 100/ 20m]7te] &5} AN B = {13,15,17} ,
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20.

n(U) = 50 91 AL U o BEAT 4, B,C 7} b33 e 24 wES

n((A = B) = C)+n((B~C) = A)+n((C~ A) - B) & Ftefet.
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